@

Développe et réduis :

.
“Z
=

A

A

5x (x—2) C =3+ (52 —8)

B=7x(2x +3) D=4z — (32 +7)

A

@

Développe et réduis :

.
Z
=

A=T7x 2z —5) C=8—(Tx+2)

B =6 x (5x +4) D =Tz + (32 — z)

@

@)

Développe et réduis :

(|

’

A

3 x (52 — 4) C=5—(2z—3)

B=4x (8z+7) D =8z+4 (3z—7)

’

@

@)

Développe et réduis :

(|

A

8 x (22 — 3) C =15+ (2% — 25)

B=3x (bx+1) D=3z—-(5—1x)

@

Développe et réduis :

A
Z
=

A

A=(2x+3)x7 C=2+4+(3z+5)

B =2x(6-3x) D =5z — (2z — 1)

A

@

Développe et réduis :

A
Z
=

A=(z4+7) %2 C=4+(2*-11)

B =3x(9—52) D =11z — (3 — 5z)

@

Développe et réduis :

(=
“Z
S

A

A

3 x (7 — 2x) C =3— (522 +8)

B=(843x) x5 D =4z + (322 +1)

A

@

Développe et réduis :

(=
Z
S

A=1(z2+4) C=1-(2z—7)

B=(8—-2x)x3 D =2z + (2* — 5z)




> Q = Q
7
2 4L

Réponse : Js Réponse :
- —
A=17x (2z—5) C=8-(Tz+2) A=5x(z-2) C =3+(5z — 8)
A =Tx2x—T7x5 C =8-Tzx—-2 A =5%xx—5%2 C =3+5zx—-8
A =14z —-35 C=6—-"Tx A=5x—-10 C=5x—-5
B =6 x (5z+4) D ="7z+(32% — x) B =17x (2z+3) D =4z—(3x+7)
B = 6x5z+6x4 D = 7z+32%—z B = Tx2x+7x3 D = 4z—3z-7
B =30x + 24 D =322 + 6z B =14x + 21 D=xz-17
2
= Q > @
™ Réponse : V& Réponse :
— A - —
A=8x (2z-3) C = 15+(z2 — 25) A=3x (5z—4) C=5-(2z-3)
A =8x2x—8x%3 C =15+z%2-25 A = 3x5zx—3x4 C =5-2z+3
A=16x — 24 C=-10+ z? A =15z — 12 C=8-2x
B =3 x (5z+1) D =3z—(5—1x) B =4 x (8z+7) D =8z+(3z—7)
B = 3xbz+3x1 D =325+ B = 4x8x+4x7 D =8x+3x7
B =15z+3 D=4z -5 B =32z + 28 D=1lx -7
4
= Q > @
Ja Réponse : Ja Réponse :
_ AL _ AL
A= (z+7) x 2 C = 4+(z% — 11) A= (22+3) x 7 C=2+(3z+5)
A =2Xx+2x7 C=4122"11 A="T7x2x+7%x3 C =2+3z+5
A=2x+14 O == A=14x+21 C=7+3z
B =3 x(9-5x) D =11z—(3 — 5x2) B =2x (6—3x) D =5z—(2x — 1)
B =3x9-3x5x D = 11z—3+5z B =2x6—2x3x D = b5z—2z+1
B =27—-15x D =16x — 3 B =12 —6x D=3z+1

> Q o Q
5, 5,

Ja Réponse : Ja Réponse :

> A > A
A = T(a2+4) C=1-(2z-7) A=3x (7—22) C = 3— (522 + 8)
A=Txz?2+7x4 C=1-2z+7 A =3x7-3x2x C =3-512—-8
A="722+28 C=-2r+8 A=21—6x C = —5— 522
B=(8-2z)x3 D =2z+ (2% — bz) B = (8+3z) x5 D =4z+(32% + 1)
B =3x8-3x2z D =2z+a® 5z B = 5x8+5x3z D =A4z+322+1
B =24 —6x D=2x2-3z B =40+ 15z D =322 +4x+1



@

Développe et réduis :

A

A

A

7 X (bx — 8) OF=23=N(dr="12)

B=3zx+2)x4 D =5z — (2% — 2z)

A

@

Développe et réduis :

(=

A=2x (12 +4x) C=3—(2?+4)

B=(5x—T7)x8 D=2z (3"

10

@

@)

Développe et réduis :

(|

’

A

9 x (7x —9) C=7— (2 +11)

B=(8+2z%)x9 D =3z + (2* — 9z)

11

’

P @
N 10
™ Développe et réduis :
A=6x(4+ ) C =3+ (42* - 5)
B=(3x—-2)x8 D =6z — (7Tz — 3)

12

@

Développe et réduis :

A

A

A="T7x(5—6x) C=5-(8+x)

B=(3x+6)x8 D =6x+ (3+x)

13

A

@

Développe et réduis :

A

A=6x (3+11z) C =6+ (22— 12)

B=(5zx—11) x 11 D =4z — (7 + 11z)

14

@

Développe et réduis :

o

A

A

5x (9z + 4) C=8+ (4z —1)

B=(9z—-5)x7 D =5z — (2? + 4x)

15

A

@

Développe et réduis :

!

A=8x (4—322) C=12-(13-2)

B=3zx+7)x9 D =3z + (84 2z)

16




59

A =2 x (12+4zx)
A =2x12+2x4x
A =24+ 8z

Sy

=((Bz—T7)x8
B = 8x5x—8x7
B = 40x — 56

[ |

—

A=06x (4+7x)
A =6x4+6xT7x
A=42x + 24

B=(3z—-2)x8
B =8x3x—8x2
B =24x — 16

\\
. @

-

6 x (3+11x)
6x3+6 <11z
6
(

6z + 18

5x—11) x 11
11x5x—11x11
55x — 121

A
A
A
B
B
B

V)
Réponse :
C=3-(z2+4)
C =3-2%—4
C=—-z?-1
D =2z+3x—-7)
D = 22+32—-7)
D=5bx—-7
10
Q@
Réponse :
C = 3+(4z% - 5)
C =3+42%2-5
C =42% -2
D = 6z—(7x — 3)
D = 6x—T7Tx+3
D = =@
12
Q@
Réponse :
C=6+(2?—12)
C =6+z2-12
CT .
D = 42— (7 + 11z)
D = 4z—7-11z
D=—-7x-17
14
V)
Réponse :

C=12-(13- )
C =12-13+z
C=z-1

D = 3z+(8 + 2x)
D = 3z+8+2x
D =5x+8

16

A=9x (Tz—9)
A=9x72x—9x9
A =063z —81

B = (8+z%) x 9
B = 9x8+9x a2
B =922+ 172

\\
L \@

-

x (5—61)
7% 6x
— 42z

7 X
TXH—
35

(3x+6) x 8
8x3x+8x6
24x + 48

A
A
A
B
B
B

=

X (9z+4)
x9z+5x4
5z + 20

I
~—~ B ot ot

92—5) X 7
X9x—T7 x5
3x — 35

iSo B v v R N X
|

Il
o

Q
Réponse :
C =8+(3z —12)
C =8+3z—12
C=3x—-14
D = 5z—(x% — 21)
D = 5z—x2+2x
D=—-22+Tz
Q
Réponse :
C=7-(z2+11)
C =7—z?-11
C=-22-4
D = 3z+(x? — 9x)
D = 3z+x%-9z
D =2%—6x
Q
Réponse :
C=5-(8+=)
C=5-8-=x
C=—-—2x-3
D =6z+(3+x)
D =6x+3+x
D=7zx4+3
Q
Réponse :
C=8+(4zx—-1)
C=8+4z-1)
C=4z+7

D = 5z—(x? + 4x)
D =5z—22—4z
D=zx—3?

11

13

15



@

Développe et réduis :

A

A

A

8 x (bz —9) C=9—(2*+2)

B=(Txr+3)x6 D =4z + (3z — 5)

17

A

@

Développe et réduis :

(=

A =6x(3+5z?) C=11+ (2*—4)

B=(Tx—4)x7 D=7z — (8z+2)

18

@

@)

Développe et réduis :

(|

’

A

5% (4z +9) C =12+ (z*+5)

B =

—~

6x —9) x 3 D=z-(3x-5)

19

’

@

@)

Développe et réduis :

(|

A

2 x (2% — 8) C=9—(z—2)

B=Bz+T7)x4 D =5z + (2 + 4z)

20

@

Développe et réduis :

A

A

A=3x (8x —7) C =100+ (2 — 11)

B=(4+4+3x)x9 D =6z — (7Tz + 3)

21

A

@

Développe et réduis :

A

A=6x (8+2x) C=15+ (22 +7)

B=(5x—17)x8 IDh— Sl |

22

@

Développe et réduis :

o

A

A

7 x (9 — 52) C=19— (22— 2)

B=(8+2z) x4 D =3z + (2z —5)

23

A

@

Développe et réduis :

!

A

5 x (22 + 9) C=2-(8—4x)

B=(8x—7)x9 D=8+ (3+z?)

24




22

-z £ v
£ :
Ja Réponse : Js Réponse
_ AL _ AL
A =6 x (3+5z?) C =11+(z? — 4) A =8 x(52-9) C=9-(22+2)
A = 6x3+6x5x2 C=11+z2-4 A =8x5x—8x9 C =9-12-2)
A =30z% + 18 C=x2+7 A =40z — 72 C=7—1z°
B=(Te—4)x7 D="7z—(8xz+2) B = (7Tz+3) x 6 D =4z+(3x —5)
B =TxT7zx—7x4 D =T7x—8x—2 B =6xTx+6x3 D =4x+3x—5
B =49z — 28 D=—z-2 B =42z + 18 D=7z—5
18
: R v
™ Réponse : ™ Réponse :
_ A _ A
A=2x (22-8) C=9—(z-2) A =5x (4z+9) C =12+(z% +5)
A =2xz2-2x8 C =9—z+2 A = 5x4z+5%9 C =12+z2+5
A=22%-16 C=-z+11 A =20z +45 C=x?+17
B = (3z+7) x4 D =5z + (2 + 4x) B = (62—9) x3 D=2z—(3x-05)
B =4x3x+4x7 D = 5z+2+4x B = 3x6x—3x9 D = x—3x+b
B =12z + 28 D=9z+2 B =18z — 27 D=-2zx+5
20
= Q > @
Ja Réponse : Ja Réponse :
_ A _ A
A =6 x (8+27) C=15+ (2 +7) A=3x(8z-7) C =100+(2? — 11)
A =6x84+6x2x C=15122+7 A =3x8z—3xT7 C =100+2%-11
A =12z +48 Ol = g - 02 A =24z -21 C=x2+89
B=(5z—T7)x8 D = 3z—(5+ 6x2) B = (4+3z) x 9 D =6x—(7x + 3)
B = 8x5x—8xT7 D = 3x—5—6x B = 9x4+9x3x D =6x—Tz—3
B = 40z — 56 D=-3x-5 B =27z + 36 D=—2z-3

17

19

21

> Q o Q
5, 5,

Ja Réponse : Ja Réponse :

_ A o’ -
A =5 x (2c+9) C=2—(8—4z) A=7x (9-5z) C=19— (22 - 2)
A = 5x25+5%9 C =2-8+4zx A =T7x9-7x5z C =19—2%+2
A =10z +45 C=4z—6 A=63—35x C=21— 22
B=(8x-7)%x9 D=8+ (3+2?% B = (8+2z) x 4 D =3z+(2x —5)
B =9x8z—9x7 D = 8+3+z2 B = 4x8+4x2zx D =3z+2z—5
B =172z — 63 D=11+22 B =8x+32 D=5x—5

24



